e

ERTA eI R

T A T

o

e eseiw:

TRIAr) W e e e e

—— e e S TN W G B SEGA T

Wnnnnnig

Lk

Write your name here

Surname Other names

MODEL SOLU TL o

B

Candidate Number

Pearson Edexce] Steiumee
Level 3 GCE

‘Mathematics

Advanced Subsidiary
Paper 1: Pure Mathematics

Sample Assessment Material for first teaching September 2017
\Time: 2 hours

Paper Reference

8MA0/01 |

{ You must have:
Mathematical Formulae and Statistical Tables, calculator

Total Marks

Candidates may use any calculator permitted by Pearson regulations.
Calculators must not have the facility for algebraic manipulation,
differentiation and integration, or have retrievable mathematical

formulae stored in them.

Instructions
@ Use black ink or ball-point pen.

® |f pencil is used for diagrams/sketches/graphs it must be dark (HB or B).

@ Fill in the boxes at the top of this page with your name,
centre number and candidate number.

@ Answer all the questions and ensure that your answers to parts of questions are

clearly labelled.

® Answer the questions in the spaces provided
~ there may be more space than you need.

® You should show sufficient working to make your methods
without working may not gain full credit.

clear. Answers

@ Answers should be given to three significant figures unless otherwise stated.

Information

@ A booklet ‘Mathematical Formulae and Statistical Tables' is provided.

® There are 17 questions in this question paper. The total mark for this paper is 100.

@ The marks for each question are shown in brackets

— use this as a quide as to how much time to spend on each question.

Advice

® Read each question carefully before you start to answer it.
® Try to answer every question.

® Check your answers if you have time at the end.

® If you change your mind about an answer, cross it out and put your

new answer and any working underneath.

©2017 Pearson Education Ltd
S 5 4 2 5 7 A 01 2 8

Turn over

©

Pearson

Pearson Edexcel Level 3 Advanced GCE in Mathematics - Sample Assessment Materials
lssue 1 = June 2017 ® Pearson Education Limited 2017




Answer ALL questions. Write your answers in the spaces provided,
1. The line / passes through the points A4 (3, 1) and # (4, ~2).

Find an equation tor /.

‘é»\ “‘}\ = M(X"xl) :
’z’l = CQB)@

=3I% 4 ¢
‘3%(:“'39‘1 = ¢
|l = 3%x3 +¢
(= 9+ ¢
=2 | O

(Total for Question 1 is 3 marks)
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- 2. The curve C has equation

y=22-1&x+16
Find the gradient of the curve at the point P (5, 6).

(Solutions based entirely on graphical or numerical methods are not acceptable.)
}717(1-l2x+(‘\
dy - - {2
P N

. at—ar—=-S

e : e —2—=—20=t2>=¢

D Gndat . Gg) u &

.

{4)

~ (Total for Question 2 is 4 marks)
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3. Given that the point 4 has position vector 3i — 7j and the point B has position vector 8i + 3j,

(a) find the vector 4B

o
(2) o
3 f =
(b) Find [4B|. Give your answer as a simplified surd. =4
(2) =
et : - s 3 2
AT P i B T S =
=10 -39 + 3¢ . 2y =
D 10 5
=
. , =
b) (A®[ = JsS0™ >
= J+t (00 §
= JI1S
= 'S e?S
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=6y . e g
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=
=
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e
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Z
et
x
W
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b=

(Total for Question 3 is 4 marks)
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f(x)=4x>-12x2+2x-6

(a) Use the factor theorem to show that (x — 3) is a factor of f(x).

(b) Hence show that 3 is the only real root of the equation f(x) =0

- (0& + 4~ ¢

Leye? = (2™
O A= v il
toa e
o

B Heee o (x) = (-4 4 2)
Co-rxwéer Len™ 4 2
b idpia o 2
O‘lﬁkz(—x?.b—
— R &
é/\/o eal V-2l e B
ZZe 35 e ondy el raot

e

(Total for Question 4 is 6 marks)
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{
- 5. Given that

22
show that J f(x)dx =16 + 3\/5
|

3

5’2&
{

PR st ]

Lve + 34
[2
S S

Lo+ 3 o=

o(‘x:

Q) £3%27 - 4=

= L2 + @@LV
e

<
= (6 + 3 A

R VT

.

f(x)=2x+3+%, x>0
X

| =

~

2¢ ‘

UV

—

® | —e 3 x| “(2>((,"
12N ([ - 3 +£& (2
+ 6V = 3 K&

(Total for Question § is 5 marks)
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6. Prove, from first principles, that the derivative of 3x? is 6.

3 (x+h)

()
B¢k thx +h*) = 3™

3x™ 4 GAxL-l-L\‘- Ra™

EL~ -H."-h
St

€x + kL

—————————————— o ——————

(Total for Question 6 is 4 marks)
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7. (a) Find the first 3 terms, in ascending powers of x, of the binomial expansion of

7
(2 - %) , giving each term in its simplest form.

(b) Explain how you would use your expansion to give an estimate for the value of 1.9957
%) F _ v
a) }( L= )
e
(3)2 “(%) u)z( (@) (%
q.'olx g@ 6!("‘64*‘+W*31k%:

128 4 - F>x@3x +« 2Us8x" =
‘e [L& - L2l 4 (480

W Csliike  comes goon 2- % =4S
= = 0. 008
= O]
% So eslernate ) i
(25?—221+>(00, L (68 x 6.0 =
(L8 - 1.2 + O0.0(68 =
(25. +F6¢.
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Not to scale

70° 60°

4 e——30m—5

Figure 1

A triangular lawn is modelled by the triangle ABC, shown in Figure 1. The length AB is
to be 30m long.

Given that angle BAC = 70° and angle ABC = 60°,

(a) calculate the area of the lawn to 3 significant figures.

(b) Why is your answer unlikely to be accurate to the nearest square metre?

) ACH =(80.F0 . ¢ =So

Sebfo = %—o—

Ares = ‘abcg(_

Arex = 320 x AC = s¢n. (30) .
Areo = 'z,kgoﬁ&&—esﬁ—f?—\
Area
The

I

3 ™ .

&

orgles ord sode  longt
Guiyures
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9. Solve, for 360° < x < 540°,

12sin? x + 7cosx — 13 = (

Give your answers to one decimal place.

(Solutions based entirely on graphical or numerical methods are not acceptable.)

(265 %% & % con e - 13 20

A

(2(¢("<?1'17‘) + F g > - T =0
e = TRoeox®or b Tt Py
"'léo‘skx% 3 s e = | =
(ZCa-cz‘x- R e e ol =

ben®x —1)(3 coxn -1) =0 .

et R o =0,

Cosy % = ’z-!' oS D = ’%‘
%:15.50 ’)ctzl-O-,So

Add 360 & e renge ,
X:L('35~S° -x:leZO.So
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. 10. The equation kx* + 4kx + 3 = 0, where k is a constant, has no real roots.

Prove that

No ol reet | Corsde Swerrmnant *

x h=©
% Z 3
] 3
{ l’? = (e % G ~e A "‘Oeéf
L k=0 Grreg I =0 ’SM & o e
1
i
|
|
\
5
:
s'
E
| - =
i
|
(Total for Question 10 is 4 marks)
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7

| 11. (a) Prove that for all positive values of x and y

(b) Prove by counter example that this is not true when x and y are both negative.

o) Tp x od gy bots  posihee, e
(vx @5 )" >0
! ﬁl’ﬁlﬁfg S5 o

+ 3/ >,
| v e 2%y 4 T .
| 7 > 2V
| xy £ ?}?
| &) w: ol g =) - 7
| \/@k(—l\ = il ’Z =
; e e ‘—"—i=—?,-54 2
' S0 e ecull & pul dovs g

; , , (Total for Question 11 is 3 marks)
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12. A student was asked to give the exact solution to the equation
25 —i9(25=10
The student’s attempt is shown below:
22 =925 =0
2%+24-9(29=0

Let 2=y

¥ -9 +8=0
="8p=1=0
y=8ory=1

Sox=3o0rx=0
(a) Identify the two errors made by the student.

(b) Find the exact solution to the equation.

i . . 2t b o 2°5¢ ‘[— f\‘.‘-
Q) The  shhdok e 252 LT AT iy
; L{ /\(k W ‘ Jr\ M, .2, = 2’ > 2 4— -

e ohpdit dpents 2%5-8 bt L¥=16

) 12’”" s 1.7 = ©
lzxzz'—Q\(lx:O
e L7~ 82 = O .
=3
522

2*= 0 L AR
No sohutions X (og (?) = Q\%C%) :
x = (leg (] -g((6) ) / (g (1)
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13. (a) Factorise completely x* + 10x* + 25x

(b) Sketch the curve with equation
y=x3+10x*>+ 25x

showing the coordinates of the points at which the curve cuts or touches the x-axis.

The point with coordinates (=3, 0) lies on the curve with equation
y=(x+a)’+10(x + a)* + 25(x + a)
where a is a constant.

(c) Find the two possible values of a.

) Y34 (O% WS> =

L S O S s e A Bl B A S PR orsnaorca —
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Figure 2

A town’s population, P, is modelled by the equation P = ab’, where a and b are constants
and ¢ is the number of years since the population was first recorded.

The line / shown in Figure 2 illustrates the linear relationship between ¢ and log, P for
the population over a period of 100 years.

A

1
The line / meets the vertical axis at (0, 5) as shown. The gradient of / is 200°

(a) Write down an equation for /.
(b) Find the value of @ and the value of b.

(c) With reference to the model interpret
(i) the value of the constant a,

(ii) the value of the constant b.

(d) Find

(i) the population predicted by the model when ¢ = 100, giving your answer to the
nearest hundred thousand,

(ii) the number of years it takes the population to reach 200000, according to the model.

(e) State two reasons why this may not be a realistic population model.
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Question 14 continued

A ( (g, Pz 3me + 5
bh) (3o = 3m e +S

-= L
b= (07* = Lol6
C)t)d\ — o 'aoF,Aldﬁo,.\' ox At @,v-.\ Ao

oo

4))  P= (60 000 (046"
= 00, 0o by, earec éO0,000.
éi) 200,000 = (Oo,oo?:x 405;,)

o T

(Total for Question 14 is 13 marks)
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VA
C 5
w
o
Diagram not E
drawn to scale C m
2 -
oy
T
()
b~
E
n
- b
0 / x
Figure 3
The curve C, shown in Figure 3, has equation y = 4x* — 6x + 4.
1 o
The point P(E’ 2) lies on C,| g
O
s : 1 i
The curve C,, also shown in Figure 3, has equation y = Ex + In(2x). %
-~
The normal to C, at the point P meets C, at the point Q. m
=
Find the exact coordinates of Q. =
(Solutions based entirely on graphical or numerical methods are not acceptable.) =
"
>
‘} ;q L + b
a2z = §x- € .
€ '*},)‘ € = k- =-2
2 ol greolort ok P ©3
\a - % ( = ™" ( - Y\ =
‘\Ar = 2 = "7‘_ C - %/) , \:;
Yy -2 A x - % 2
{ = s
y =g 2k
\ZL = =z X + Lo ( Z—x\ . ::
| . 2
ey %2’_‘%)('('(/\(2’)(,\ -
T = ( (2% :n
1x = = e &
= 5 e %
\ 3
4= = (2e®) + %
e *
4= %e e &
” Pearson Edexcel Level 3 Advanced GCE in Mathematics - Sample Assessment Materials
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Question 15 continued

A = ( %,e%/ e ™ L]

(Total for Question 15 is 8 marks) J
. —
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2xm

}7
5 bV

c
Figure 4
Figure 4 shows the plan view of the design for a swimming pool.

The shape of this pool ABCDEA consists of a rectangular section ABDE joined to a
semicircular section BCD as shown in Figure 4.

Given that AE = 2x metres, ED = y metres and the area of the pool is 250 m?,
(a) show that the perimeter, P metres, of the pool is given by

P 04,
X

(b) Explain why 0 < x <, ’@
n

(¢) Find the minimum perimeter of the pool, giving your answer to 3 significant figures.

Perrle — o5 cnle ¢ 7Tl - |
Se Mzc»; Cennle o _F2 1Tl
A: 5>

Fervtb o sesmicinds = TOx
bornels- & reelangly & Lx +2g
P~ Lx 7% + T ¢

Arca z Axg 4 TR » = 2SO
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" 3
|
- Question 16 continued
; =" = y il ak rrex 2
i
? a%_=So0
I T
X o
- | J&=
- [
Herce, O c> <V 22
250 v x
) Ff kA =2 + = .
r W) W ¢
P 29 -5 +F -o
+~ X . ——(4‘—6-. .
1+ R = —=
x? = L E
x> ew .
x = _JEr -
o S
P D J&2 4 - N
P=54.-&n
(Total for Question 16 is 10 marks)
T R e N e S SR e S T U PO NP PITIIRES)
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17. A circle C with centre at (-2, 6) passes through the point (10, 11).

(a) Show that the circle C also passes through the point (10, 1).

The tangent to the circle C at the point (10, 11) meets the y axis at the point P and the
tangent to the circle C at the point (10, 1) meets the y axis at the point Q.

(b) Show that the distance PQ is 58 explaining your method clearly.

@) rds = J(10-(-2) #(1-6)"

Dilecs.  108) L@l) =

J(zojuﬁi;—e)‘ =
[2.°4-5% =
Vik425 =
Ji6q =
12 = mdrs

(4&\—02-, ke  posses H\/-:ru%
L) (;—roo&ené og  rodiy = (3.‘;3:

PESTE —Z( x-10)
Lé,’“: & X 424
%: —‘S&z + 3C '
x = ©C ak %—m
P=~ (o, 35)
Grrdeg L * = i T
o danas (0-1-7\
g il x , L = &
Y - = m (- %)
Y - = & (x-10)
%—I = {‘%'Z -2
= =2-23
€=0 ok Otrs

R= (6,23) .

\)

J \2"'4,5."
Jele +25
J146]

[ 3

\

()

35-(19=58 o Pad Qoo 53 ik apet .
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